

Apartment in Zurrieq



Zurrieq, South



€293,000

Reference No: 240461009-112

 Total Rooms: **5**

 Floor Area (m²): **102**

 Bathrooms: **2**

 Bedrooms: **2**

Apartment - For Sale - Zurrieq

Zurrieq - Apartment - Situated in a convenient location close to all amenities in the southern area, this 2-bedroom apartment offers a practical and comfortable layout. The property comprises an open-plan kitchen, dining, and living area, 2 double bedrooms (main with an en-suite shower), and a main bathroom. Complementing the apartment are three balconies, including a front terrace, ideal for relaxing and enjoying outdoor time. The property will be sold finished, excluding bathrooms and internal doors, with completion scheduled for mid-2027. Contact your preferred agent for further information.

Features

- ✓ Lift
- ✓ Water Utility
- ✓ Skirting
- ✓ Entrance Hall
- ✓ Electricity Utility
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 7.17 x 5.09 m (36.5 m²)
- ✓ Double Bedroom : 5.2 x 2.95 m (15.34 m²)
- ✓ Double Bedroom : 4.41 x 3.13 m (13.8 m²)
- ✓ Hallway : 4.32 x 2 m (8.64 m²)
- ✓ Bathroom : 2.3 x 1.94 m (4.46 m²)
- ✓ Shower Ensuite : 2.02 x 2.05 m (4.14 m²)
- ✓ Open Space : 4.41 x 1 m (4.41 m²)
- ✓ Open Space : 2 x 1 m (2 m²)
- ✓ Open Space : 2.72 x 2.06 m (5.6 m²)

Gallery





James Mizzi

RE/MAX Professionals - Mosta

M: 79472802

E: jmizzi@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta